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Section-A

(Very short answer type questions)
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Note: Answer all questions. As per the nature of the question

delimit your answer in one word, one sentence or maximum up to
30 words. Each question carries 2 marks.
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Section -B

(Short answer questions)
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Note: Answer any 4 questions. Each answer should not exceed

100 words. Each question carries 10marks.
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Section -C

(Long answer questions)
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Note: Answer any two questions. You have to delimit your each

answer maximum 800 words. Each question carries 20 marks.
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